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100 Questions

Testbook Solution

Que. 1 Four numbers are given, out of which three are alike in a certain way and one is different. Identify the
number which is different from the rest.

Correct Option - 3

62961.
15272.
24673.
72844.

Testbook Solution

Que. 2 Four words are given out of which three are alike in a certain way and one is different. Choose the odd
word.

Correct Option - 3

Bindusara1.
Ashoka2.
Samudragupta3.
Chandragupta Maurya4.

Testbook Solution

Que. 3 A question is given on the basis of two arguments. Decide which of the arguments is/are strong with
respect to the question.

Question:
Should there be a maximum limit for the number of ministers in the central government?
Argument:
I. No. The political party in power should be given freedom to decide the number of ministers to be appointed.
II. Yes. To avoid unnecessary expenditure, the number of ministers should be limited to some percentage of the
total number of seats in Parliament.

Correct Option - 1

Both Arguments I and II are strong.1.
Neither argument I nor argument II is strong.2.
Only argument II is strong.3.
Only argument I is strong.4.

Testbook Solution

Que. 4 Select the letter-group which has the same relation to the third letter-group as the second letter-group is
to the first letter-group.

RVSM : PUSO :: SHIT : ?

Correct Option - 2

QGDR1.
QGDV2.
RGHV3.
QJNV4.



Testbook Solution

Que. 5 Select the number which can be replaced by the question mark (?) in the following series?
42, 14, 28, 7, 21, 4.2, ?

Correct Option - 1

16.801.
39.802.
18.803.
44.204.

Testbook Solution

Que. 6 Arrange the words given below in the order in which they appear in an English dictionary.
1. Sugary

2. Subtle
3. Sudoku
4. Sucres
5. Sullen

Correct Option - 3

3, 4, 5, 2, 11.
3, 4, 2, 5, 12.
2, 4, 3, 1, 53.
2, 3, 4, 1, 54.

Testbook Solution

Que. 7 Select the combination of letters which when placed sequentially in the blanks of the given series will
complete the series.

ac_dea_ba_bde_cha_b

Correct Option - 4

bcbcb1.
bcbdc2.
cbcaa3.
bccac4.

Testbook Solution

Que. 8 Select the number which can be replaced by the question mark (?) in the series given below?
2, 2.5, 3.75, 6.56, 13.12, 29.52, ?

Correct Option - 1

73.801.
78.842.
56.883.
72.484.

Que. 9 Four numbers are given, out of which three are alike in some way and one is different. Identify the
number which is different from the rest.

4357821.
5737912.
2435783.



Testbook Solution Correct Option - 2
3578244.

Testbook Solution

Que. 10 'A' is sister of 'B'. 'B' is married to 'D'. 'D' is brother of 'K'. 'B' and 'D' have one daughter 'G'. How is 'A'
related to 'K'?

Correct Option - 4

Sister1.
Brother-In-Law2.
Daughter-In-Law3.
Sister-In-Law4.

Testbook Solution

Que. 11 Choose the word which is related to the third word in the same way as the second word is related to the
first word.

TENNIS : COURT :: HOCKEY : ?

Correct Option - 3

ARENA1.
RING2.
GROUND3.
PITCH4.

Testbook Solution

Que. 12 Geeta is older than Mohini but younger than Rama. Mohini is older than Sonia but younger than Rama.
Who is the eldest among them?

Correct Option - 3

Soniya1.
Mohini2.
Rama3.
Geeta4.

Testbook Solution

Que. 13 Four sets of letters are given out of which three are alike in some way and one is different. Choose the
odd letter-set.

Correct Option - 2

ZBEI1.
DFIN2.
PRUY3.
MORV4.

Que. 14 Read the given statements and conclusions carefully. Assuming the given information in the
statements, even if they seem to be at variance from commonly known facts, decide which of the given

conclusions logically follows from the given statements.
Statement:
Some mobiles are phones.
All phones are calls.
Some calls are mobiles.



Testbook Solution

Conclusion:
I. Some mobiles are calls.
II. All mobiles are not calls.

Correct Option - 3

None of the results follow.1.
Only result I follows.2.
Result I and II both follow.3.
Only result II follows.4.

Testbook Solution

Que. 15 Select the word that is related to the third word in the same way as the second word is related to the
first word.

Zoology : Animal :: Onomatology : ?

Correct Option - 3

Small insects1.
Fruits2.
Names3.
Eggs4.

Testbook Solution

Que. 16 M's father is T's brother-in-law. How is M related to T?

Correct Option - 2

Brother1.
Niece2.
Daughter3.
Mother4.

Testbook Solution

Que. 17 Select the number which can be replaced by the question mark (?) in the series given below?
2, 3, 1.5, 1.5, 3, 12, ?

Correct Option - 4

721.
642.
1083.
964.

Testbook Solution

Que. 18 If Δ = +, □ = -, ∘ = × and ∇ = ÷, then find the value of 36 □ 12 ∘ 2 Δ 18 ∇ 9 .

Correct Option - 1

141.
102.
163.
184.

Que. 19 Choose the option which is related to the third number in the same way as the second number is related
to the first number.



Testbook Solution

324 : 36 :: 633 : ?

Correct Option - 3

721.
582.
483.
964.

Testbook Solution

Que. 20 If I = 16 and G = 18, then find the value of BREAD?

Correct Option - 1

951.
942.
813.
884.

Testbook Solution

Que. 21 On reducing a number by 27%, it becomes 365. By what percent should it be increased to make it 950?

Correct Option - 3

120%1.
80%2.
90%3.
100%4.

Testbook Solution

Que. 22 The average of 35 numbers is 70. The average of the first 18 numbers is 65 and that of the last 18
numbers is 74. If the 18th number is not included then what will be the average of the remaining

numbers? (up to one decimal place)

Correct Option - 1

70.51.
69.52.
73.53.
71.54.

Testbook Solution

Que. 23 The value of   is ______ .

Correct Option - 3

+ + +. . . . +
1

1.2

1

2.3

1

3.4

1

49.50

1. 49

100

2. 59

50

3. 49

50

4. 59

100

Que. 24 If (m + n) : (m - n) = 7 : 3 then the value of (m  - n ) : (m  + n ) will be ____.2 2 2 2

21 : 291.
29 : 212.
21 : 113.



Testbook Solution Correct Option - 1
11 : 214.

Testbook Solution

Que. 25 If the arithmetic mean is 17 and the sum of all observations is 493, then what is the total number of
observations?

Correct Option - 1

291.
312.
233.
264.

Testbook Solution

Que. 26 In a mixture of 60 liters of milk and water, the water content is 15%. How much liter of water must be
added to reduce the water content in the new mixture by 20%?

Correct Option - 4

6.251.
52.
7.53.
3.754.

Testbook Solution

Que. 27 There was a discount of 28% on bags. A bought a bag and got a discount of 14% on payment of cash
amount. He paid Rs. 619.20. What was the cost price (in Rs.) mentioned in the tag on the bag?

Correct Option - 4

8001.
12592.
7503.
10004.

Testbook Solution

Que. 28 The value of   is the same as _____ of the following.

Correct Option - 3

4. + 1.0 − 0.453
¯ ¯¯̄¯

46
¯ ¯¯̄¯

9
¯¯̄

1. 5.122
¯ ¯¯̄¯

2. 5.120
¯ ¯¯̄¯

3. 5.102
¯ ¯¯̄¯

4. 5.182
¯ ¯¯̄¯

Testbook Solution

Que. 29 A lent Rs. 8400 to B for 3 years and Rs. 7200 to C for 4 years at the same rate of simple interest and
received a total of Rs. 4050 from both as interest. The rate of interest per annum is _____.

Correct Option - 3

8%1.
7%2.
7.5%3.
8.5%4.



Testbook Solution

Que. 30 What will be the highest value of X in the following equation?
4X1 + 6Y7 + 3Z3 = 1371

Correct Option - 3

91.
32.
63.
04.

Testbook Solution

Que. 31 300 oranges are distributed among the students of a class. Each student gets an orange three times the
number of students present in the class. The number of students in the class was _____.

Correct Option - 2

201.
102.
183.
154.

Testbook Solution

Que. 32 Pendulum A rings once in 3 seconds and another pendulum B rings 4 times in 7 seconds. If both the
pendulums start ringing at the same time, how many times will they ring together in 1 minute?

Correct Option - 3

41.
12.
23.
84.

Testbook Solution

Que. 33 Three numbers are in the ratio 1/2 : 2/3 : 3/4. The difference between the largest and the smallest
number is 21. The sum of all the numbers is _______.

Correct Option - 3

2101.
1502.
1613.
1954.

Testbook Solution

Que. 34 The simple interest on a sum of money at the rate of 20% per annum for a period of 3 years is Rs.
3600. What will be the compound interest (in Rs.) on the same sum of money, compounded annually,

for the same period and at the same rate of interest?

Correct Option - 1

43681.
42572.
50003.
48624.

Que. 35 The sum of the first 22 terms of    will be equal to _____.+ + + + +. . . .
1

1×2

1

3×2

1

4×3

1

5×4

1

6×5



Testbook Solution Correct Option - 2

1. 17

23

2. 22

23

3. 19

23

4. 21

23

Testbook Solution

Que. 36 The simple interest on a sum of money at the rate of 7% per annum for a period of 3 years is Rs. 6300.
What will be the compound interest (in Rs.) on the same sum of money, compounded annually, for the

same period and at the same rate of interest? (near Rs.1)

Correct Option - 4

69801.
69812.
67523.
67514.

Testbook Solution

Que. 37 A seller sells 10 clips for a rupee and makes a profit of 20%. How many clips did he buy for one
rupee?

Correct Option - 2

101.
122.
83.
94.

Testbook Solution

Que. 38 If the sum of the square root of two positive numbers is 706 and the square root of one number is 5,
then what will be the square root of the other number?

Correct Option - 2

21.
32.
93.
44.

Testbook Solution

Que. 39 On dividing a number by 899, the remainder is 58. If the same number is divided by 29, then the
remainder will be _______.

Correct Option - 2

21.
02.
33.
14.

Que. 40 A takes a loan of Rs. 11000 for 4 years at 5% simple interest. He lent to B at 7% for 4 years. What will
be his profit (in Rs.)?

10001.



Testbook Solution Correct Option - 4

5002.
4403.
8804.

Testbook Solution

Que. 41 Select the option that expresses the given sentence in passive voice.
Hang the clothes on the clothesline to dry.

Correct Option - 2

The clothesline should be hanged on the clothes to dry.1.
Let the clothes be hung on the clothesline to dry2.
The clothes should be hanging on the clothesline to dry3.
Let the clothes hang on the clothesline to dry4.

Testbook Solution

Que. 42 Fill in the blank with the most appropriate word.
The crown prince _______ to the throne with a grand celebration.

Correct Option - 2

ascended1.
acceded2.
accessed3.
acquired4.

Testbook Solution

Que. 43 The following sentence has been divided into four parts. Select the part of the sentence that contains an
error from the given options.

The committee discussed / the matter for hours / without arrive on / any conclusion.

Correct Option - 2

any conclusion1.
without arrive on2.
the matter for hours3.
The committee discussed4.

Testbook Solution

Que. 44 Fill in the blank with the correct form of the verb.
She shifted to Mumbai in 2010 and _____here since then.

Correct Option - 3

will be1.
was2.
has been3.
had been4.

Que. 45 Select the option that can be used as a one-word substitute for the given group of words.
A statement open to more than one interpretation

Ambiguous1.
Axiom2.



Testbook Solution Correct Option - 1

Ambivalent3.
Ambidextrous4.

Testbook Solution

Que. 46 Select the most appropriate meaning of the given idiom:
Have a close shave

Correct Option - 4

To hurt intentionally1.
To have an absurd excuse2.
To suffer pain3.
To have a narrow escape4.

Testbook Solution

Que. 47 Fill in the blank with the most appropriate word.
The champion won three ______ games in the chess tournament.

Correct Option - 1

consecutive1.
contagious2.
contemporary3.
continual4.

Testbook Solution

Que. 48 Select the option that expresses the given sentence in reported speech.
He said to me, “Ruhi fell in the park while playing.”

Correct Option - 4

He told me Ruhi fall in the park while playing1.
He told to me that Ruhi fell in the park while playing.2.
He said to me that Ruhi has fallen in the park while playing3.
He told me that Ruhi had fallen in the park while playing4.

Testbook Solution

Que. 49 Fill in the blank with the correct form of the verb.
They______ the saplings before we reach home.

Correct Option - 4

will have planted1.
planted2.
will have been planting3.
will be planting4.

Que. 50 The following sentence has been divided into four parts.
Select the part of the sentence that contains an error from the given options.

I can help him / to get a job / so he promise / to work hard.
so he promise1.
to work hard2.



Testbook Solution Correct Option - 1

to get a job3.
I can help him4.

Testbook Solution

Que. 51 Read the passage and answer the questions that follow:
In an age of distractions, lack of concentration is a common problem. Like any other element of

success, the power of concentration can be cultivated. Concentration means the power of giving undivided
attention to something. Where there is interest, this attention follows automatically. If you are tied to a work that
is not interesting, look for something of interest in it. Then you will be able to improve your concentration.
Concentration can be developed as a habit by constant practice. You must persevere in trying to concentrate till
you succeed. Habit is as strong a force for good as for ill. You should try to build up habits that are conducive to
concentration. For instance, it helps to sit down to work at a definite time at a definite place. The law of
concentration is that one cannot attend to two things at a time or that two or more things cannot be done with
equal intensity simultaneously. A child reading a lesson as he watches a program on TV seems to be able to
attend to both at the same time. The truth is his attention alternates between the two. Concentration occurs most
naturally when both the body and the mind are relaxed. According to this view, the ideal means of concentrating
would be to sit down in a relaxed posture. That is to say that the person trying to concentrate should not be keyed
up and tense. For example, you should not begin reading a book while you are still tired from your day’s work.
Wait a little, until both the body and the brain have recovered from the strain.

Concentration is easier when the work is

Correct Option - 1

interesting1.
tiring2.
straining3.
boring4.

Testbook Solution

Que. 52 Concentration can be developed by:

Correct Option - 4

a strong force1.
a keyed up mind2.
a relaxed posture3.
constant practice4.

Testbook Solution

Que. 53 What is the main idea of the passage?

Correct Option - 1

How to deal with distractions1.
How to improve concentration2.
How to relax in stressful situations3.
How to read effectively4.

Que. 54 Which of the following hinders concentration ?
Working in a peaceful environment1.

Reading with a relaxed mind2.
Working at a fixed hour everyday3.



Testbook Solution Correct Option - 4
Doing different tasks at the same time4.

Testbook Solution

Que. 55 The power of concentration has been referred to as:

Correct Option - 1

an ingredient for success1.
a habit that does not die2.
a common problem of distraction3.
a technique to relax the body and mind4.

Testbook Solution

Que. 56 Which Indian language is spoken by 43.6% of the population as per Census of India 2011?

Correct Option - 2

Marathi1.
Bangali2.
Hindi3.
Telugu4.

Testbook Solution

Que. 57 What were the disadvantages of Ryotwari system in Madras Presidency?

Correct Option - 3

Revenue officers randomly measured and assessed1.
Taxes were often higher than the income of farmers2.
Proper collection of revenue of landlords was not done3.
Persistent droughts and floods destroyed crops4.

Testbook Solution

Que. 58 Which amendment to the constitution allowed the right to education to waive the no-detention policy
in India?

Correct Option - 3

20021.
20092.
20183.
20154.

Testbook Solution

Que. 59 What is the percentage of female workers in the total population as per 2011 census?

Correct Option - 2

39.81.
25.62.
113.
454.

Que. 60 What is the main focus of the 103rd Amendment of the Indian Constitution?
Preference will be given to women belonging to scheduled castes and tribes in government jobs1.

There will be 50 percent quota of scheduled castes and tribes for admission in educational institutions2.



Testbook Solution Correct Option - 3

There will be a separate quota for economically weaker sections in jobs3.
Economically weaker section will also get reservation in government jobs4.

Testbook Solution

Que. 61 Which region of India has the best conditions for growing wheat, cotton and sugarcane?

Correct Option - 2

Rajasthan, West Gujarat1.
Gujarat, Uttar Pradesh, Punjab2.
Maharashtra, Telangana3.
Odisha, Bengal and Bihar4.

Testbook Solution

Que. 62 What is the role of Member of Legislative Assembly (M.L.A)?

Correct Option - 2

construction of roads and infrastructure in the constituency he is elected from1.
Negotiations with the government for development funding and support2.
Helping Panchayats for Rural Development3.
Deciding where and what development should take place4.

Testbook Solution

Que. 63 Which is the crop that The National Research Center for Spices has promoted specifically since 1986?

Correct Option - 3

cloves1.
Chilly2.
turmeric3.
Cardamom4.

Testbook Solution

Que. 64 What is the position of India in the world on the basis of internet usage level?

Correct Option - 2

fifth1.
Second2.
third3.
First4.

Testbook Solution

Que. 65 What is the target set by Indian Railways by 2020?

Correct Option - 2

All tracks will have to broad gauge1.
Electrical connectivity to all major cities of North East2.
Reduction in fares and faster trains3.
Electrification of all broad gauge tracks4.

Que. 66 Which tennis player has won 11 French Open Championships?
Roger Federer1.



Testbook Solution Correct Option - 2

Rafael Nadal2.
Ronald Garros3.
Andy Roddick4.

Testbook Solution

Que. 67 Which temple is still depicted by Odissi dancers?

Correct Option - 2

Jagannath Temple Puri1.
Khajuraho Temple2.
Konark Sun Temple3.
Ajanta and Ellora Caves4.

Testbook Solution

Que. 68 Where is Kalamazhuthu (Kollam) usually made?

Correct Option - 1

on the ground1.
paper2.
palm leaf3.
on the walls4.

Testbook Solution

Que. 69 What is the focus area of Indian Science Policy 2013?

Correct Option - 3

Full funding of research and development in areas such as space, GM foods and nuclear energy1.
Development of high ware and artificial intelligence2.
Ranking India among top five global scientific powers by 20203.
Increase research grants in traditional fields and techniques4.

Testbook Solution

Que. 70 Which agency is not under the Right to Information?

Correct Option - 2

Private utility companies1.
Central Bureau of Investigation2.
Police departments3.
Courts and judicial bodies4.

Testbook Solution

Que. 71 In which mountain range is the Kangchenjunga-2 peak located?

Correct Option - 2

Kailash Mansarover1.
Karakoram Range2.
Gilgit Range3.
Zanskar Range4.

Que. 72 Why did Muhammad bin Tughlaq make coins of brass and copper?



Testbook Solution Correct Option - 1

in short supply of gold and silver1.
to make it more secure2.
to pay higher wages to soldiers3.
Increase coins available for trade4.

Testbook Solution

Que. 73 Which industry in India gave the best return of 11% during the 19th century?

Correct Option - 4

paper1.
iron and Steel2.
tea and coffee3.
Cloth4.

Testbook Solution

Que. 74 Which body functions instead of Panchayat in Manipur and Nagaland?

Correct Option - 1

autonomous district council1.
special area development board2.
local development board3.
District Council4.

Testbook Solution

Que. 75 With which singing style is the taryukata instrument kamicha associated?

Correct Option - 2

kumaon song1.
Manganiyar of Rajasthan2.
pandwani of chhattisgarh3.
Kashmir's Chhakri4.

Testbook Solution

Que. 76 Which of the following tribal groups are mostly found in Chhattisgarh?

Correct Option - 3

Santhal1.
Maria2.
gond3.
Parja4.

Testbook Solution

Que. 77 Which religion gained popularity in western and central India due to the patronage of the Ganga-
vansh, Rashtrakutas and Hoysalas?

Correct Option - 2

Shaiva1.
Jainism2.
Buddhism3.
Hinduism4.



Testbook Solution

Que. 78 What has been the impact of the trade related aspects of Intellectual Property Rights (TRIPS) on India?

Correct Option - 2

Foreign direct investment in seed and food production1.
Higher costs of drugs, and foreign-owned technology2.
There has been an increased demand for cheaper technology and medicines3.
Obstacles to moving towards greater self-reliance4.

Testbook Solution

Que. 79 When will the Member of Parliament (MP) seat become vacant?

Correct Option - 3

Parliament is not present in session for more than 60 days1.
If MP changes party after election2.
If he is appointed as the President or the Governor of a State3.
If he is involved in a contract of public works4.

Testbook Solution

Que. 80 Which mountain range is the oldest (2000 million years old)?

Correct Option - 2

Vindhya Ranges1.
Aravali2.
Western Ghat3.
Eastern Ghat4.

Testbook Solution

Que. 81 Which of the following is an operating system?

Correct Option - 4

Java1.
Python2.
MS Office3.
Windows4.

Testbook Solution

Que. 82 While writing a function in Excel, it should start with _____.

Correct Option - 1

=1.
<2.
%3.
>4.

Testbook Solution

Que. 83 A/An _______ is a tool that enables us to reorganise and summarise selected columns and rows of data
in a spreadsheet or database table to obtain a desired report.

Correct Option - 3

Auto Sum1.
Lookup2.
pivot3.
print4.



Testbook Solution

Que. 84 The footer in a Word document is present at:

Correct Option - 4

right1.
top2.
left3.
bottom4.

Testbook Solution

Que. 85 Which of the following is a correct orientation while printing a document?

Correct Option - 2

Margin1.
Landscape2.
Collated3.
Picture4.

Testbook Solution

Que. 86 What is the key combination to print a document?

Correct Option - 4

ctrl + X1.
ctrl + Z2.
ctrl + C3.
ctrl + P4.

Testbook Solution

Que. 87 What does a VLOOKUP function do?

Correct Option - 2

Increases the font of text1.
Searches for a value in the column2.
Prints the content of an Excel sheet3.
Deletes a value in the column4.

Testbook Solution

Que. 88 Watermark in a Word document is present:

Correct Option - 2

on the sides of the document1.
behind the body of the document2.
below the body of the document3.
above the body of the document4.

Que. 89 If one wants to copy the content of the cell present above, then which keyboard combination can be
used?

ctrl + D1.
ctrl + Z2.
ctrl + X3.



Testbook Solution Correct Option - 1
ctrl + E4.

Testbook Solution

Que. 90 Which function displays only the data in column (s) according to specified criteria?

Correct Option - 2

AVG1.
Filter2.
Min3.
Sum4.

Testbook Solution

Que. 91 The color code for the food safety display board on a restaurant is:

Correct Option - 3

Green1.
Red2.
Purple3.
Blue4.

Testbook Solution

Que. 92 Which of the following is not true about FSSAI?

Correct Option - 4

The head office is situated in Delhi1.
It isa single reference point for all matters relating to FSS2.
FSSAI has been established under Food Safety and Standards, 20063.
FSSAI has established "Food Safety and Standards Act 20064.

Testbook Solution

Que. 93 Name of the book, which covers nutritious eating habits at an early age:

Correct Option - 4

Orange Book1.
Purple Book2.
Pink Book3.
Yellow Book4.

Testbook Solution

Que. 94 As per the FSS Regulation, displaying FSSAI License/Registration Number at food premises is:

Correct Option - 2

Optional1.
Mandatory2.
Non-obligatory3.
Voluntary4.

Que. 95 The provision of single window system for applying for import clearance is called:
FSMS1.

SWIFT2.



Testbook Solution Correct Option - 2

IEC3.
FOSTAC4.

Testbook Solution

Que. 96 A provisional NOC is granted to an imported food consignment without waiting for the lab analysis
report if:

Correct Option - 1

The food requires special storage conditions1.
The food is for personal use2.
The food is for display purpose3.
The shelf life of >7 days4.

Testbook Solution

Que. 97 The current CEO of FSSAI is:

Correct Option - 4

Sh. Bhaskar N1.
Sh. Sunil Bakshi2.
Ms Rita Teaotia3.
Sh. Pawan Kumar Agarwal4.

Testbook Solution

Que. 98 Imported food samples are sent to NABL accredited laboratories when:

Correct Option - 4

The samples are retested1.
The samples are tested for the second time2.
The importer challenges the lab reports3.
The samples are tested for the first time4.

Testbook Solution

Que. 99 FOSTAC aims to:

Correct Option - 2

Ensure availability of wholesome food1.
Train at least one person in food business to ensure food safety2.
Train street food vendors online3.
Lay down standards for food storage and distribution4.

Testbook Solution

Que. 100 The advantages of third party private auditing includes:

Correct Option - 3

Increase the frequency of regulatory inspections conducted by the licensing authorities1.
Weakens the food safety surveillance system2.
Reduce the regulatory Food Safety Inspections conducted by Central or State Licensing Authorities.3.
Increases the burden on the licensing authorities4.
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